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GENERAL STUDIES

‘Make in India® campaign wir- waunched
on

(A) October 2, 2014
(B) September 25, 2014
(C) January 26, 2014
(D) August 15, 2014

Which animal is declared as ‘Aghanya’
in Rigveda 7

(A) Sheep
(C) Horse

(B) Cow
(DY Gont

As on January 15, 2015 the status of
Repo Rate modified by RBI was

(A) B.0%
iB) 7.75%
(C) B.25%
(D) No medification

‘Kerophthalmia® is the disease caused by
deficiency of

(A) Vitamin B12
(B} Vitamin C
(C) Vitamin A
(D)) Vitamin K

Which country is cilled ‘The sugar bowl
of the world' !

(A) Cuba {(B) laly
() India (D) Japan
A keel is absent in

{A) QOstrich (B) Duck
(C) Chicken (D) Peacock
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Which Aricle of the Constitution
defines the duties of the Chict Mimster ?
(A3 Article 162
(By Article 164
(Cr Article 165
(D) Article 167

Which of the following is the fastest
memory 7

(A) Hard Disk

iBy DVD ROMs

(C) Static RAM

(D Cache Memaory

Which on- of the following is not
formed in oui hody ?
(A Vitamin A

iC Enz:me

(B) Protein
(D Hormone

Which of the following planels does not
have satellite ?
tA) Earth

(C) Jupiter

{B) Mars
{D) Venus

Who amongst the following captained the
Sri Lankan Team in the final match of
ICC world T20 between Indin and Sni
Lanka held in April 2014 in Bangiadesh ?
(A) Kumara Sangakara

(B) Mahela Jayawardhane

(Cy Lasith Malingn

(D} Kushal Parero

Which zone of the Indian Railway is the
shortest one ?

{A) Delhi Metro

(BY Mumbm Metro

(C) Kolkata Metro

{D) Bangalnrr Meiro
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Quartzite is metamorphosed from
(A) Limestone

(B) Plutonic rock

(C) Sandstone

(D) Shale

Arihant is &
(A) Multi Barrel Rocket Launcher.

(B) Airborne Early Warning and Control
System.

(C) Unmanned Combat Aerial Vehicle

(D) Nuclear-Powered Ballistic Missile
Submarine,

Who amongst the following joined as
Deputy Governor of Reserve Bank of
India in July 2014 ?

(A) Kaptan Singh

(B) Dr. Amarjeet Singh
(C) Dr. C.A. Bandopadhyay
(D) S.8. Mundra

Which of the following soile of India is
most suitable for cotton cultivation ?

(A) Regur soil
(B) Laterite soil
(C) Alluvial soil
(D) Red soil

The 7* BRICS summit of 2015 was held
in Hussian city of

(A) Abara (B) Balakovo

(C) Kotovo (D) Ufa

Which one among the following is a
plant hormone ?

(A) Insulin
(C) Gibberellin

(B) Thyroxin
(D) Estrogen c
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“India  Wins Freedom” is the
autobiography of

(A) Syed Ahmad Khan

(B) Muhammad Ali

(C) Abul Kalam Azad

(D) Zakir Hussain

Which of the following countries have
an unwritten Constitution ?

(A) India (B) Pakistan
(C) USA (D) UN

How many strings are on a Sarod ?
(A) 5 (23 7
(C) 4 D) 19

‘Lumen’ is tic unit of
(A) Prightness

(BY Luminous intensity
(C) Muminance

(D) Luminous flux

The seat of Madhya Pradesh High Court
18 located at

(A) Indore
(C) Gwalior

(B) Bhopal
(D) Jabalpur

Dry lce is nothing but

(A) Washing soda

(B) Carbon monoxide

(C) Gaseous carbon dioxide
(D) Solid carbon dioxide

The immortal song Vande Mataram has
been written by

(A) Rabindranath Tagore

(B) Surendranath Bandopadhyay
(C) Bankim Chandra Chattopadhyay
(D) Sarat Chandra Chatterjee
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MATHEMATICS (Quantitative Aptitude)

If the number is added to two-fifths of
itself, the value so obtained is 455 What
is the number ?
(A) 425
(C) 325

(By 516
(D) 562

(V6 +1) =7+2/8
(A) 7 (B) \7
(C) #T+7 (D) W7

The body weight of seven boys is
recorded as 70 kg, 64 kg, 55 kg, 81 kg,
45 kg, 76 kg and 92 kg. What 1s the
average body weight of all seven boys ?
(A) 69kg (B) 96kg
(Cy 65kg (D) 56 kg

The cost of 4 bags and 12 purics is
T 1,520. What is the cost of 10 bags and
30 purses ?

(A) T3.500
(C) ¥ 3,800

(B) T5.30U0
(DY T8R800

One of the 'mgles of ¢ raallelogram s
35° What will be the sum of the largest
angle snd vvice the smallest angle of the
parallelegram

(A) 217° (B) 2157

() 265° (D) 210°

The area of a square 1s 256 sq.cm. What is
the value of the double of its penmeter ?

(A) 64 cm iB) 30cm
(C) 182¢m (D) 128 cm
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Six boys can complete a piece of work in
42 hours. In how many hours will 14
hays complete the same piece of work !
(A) IR B 17
) 16 (Dy 15

Ram purchased an item for ¥ §.200 and
sold it at & gain of 35%. From that
amount he purchased anoter 1em and
sald it at a loss of 20%, What 18 his
overall gainfloss 7
(A) 655 gain

(C) T 655 luss

(B) T o356 gun
(M T o506 loss

5

T ‘-'L—J'¥=',’—'iﬁ:
(A 187 (B) 186
(C) 18§ (D) 184

What is the least number to be added to
4523 to make 1t a perfect square 7

(A) 101 (By 103

(Cy 110 (D) 238

The total number of students in a school
is 31700, If the ratio of boys to the girls
in the school is 743 : 842, what s the
total number of girls in the school 7

(A) 16650 (B) 16830

(Cy 16840 (D) 16680

Out of the following fractions which one
1s the second lowest !
3 6 7 5 8

. B s 8
(A} T B) 11
5 2, 3
() T (I 5
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] What is 214 ti ?
%of%of%of 1664 = 4, hat is 214 times 98
(A) 21070 (B) 20972
(A) 648 (B) 728 (C) 21640 (D) 20492
(C) 762 (D) 612
45, 15% of 7=94.5
If (20)? is subtracted from the square of (A) 14175 (B) 141
a number, the answer so obtained is ({C) 630 (D) 1410
4321, What is the number ?
(A) 11 (B) 112 46. 61% of a number is 9028 What is 46%
(C) 113 (D) 114 of that number ?
(A) 6660 B) 6956
C) 7104 (D} 6808
In how many different ways can the (=) /
letters of the word POWERS be
mgcd 2 47. A bus covers @ distance of 1488 km in
24 hrs. What is the average speed of the
(A) 640 ®) 720 e “3
(C) 1440 (D) 360 A} 62 kmph (B) 68 kmph
(C} 64 kmph (D) 89 kmph
62626 - 6262 + 626 -62+6="7
(A) 56934 (B) 56494 48. What is the compound interest accrued
() 54694 (D) 5464 l;l'l a suT of T 1800 at the rate 4 p.c.pa in
2 years 7
(A) T1846.84 (B) T 156.84
If (9)? is subtracted fromi u square of a (C) T194.60 (D) T 146.88
number, the value so obtamed is 544,
1 9
Whal is the number 1 49, The ratio between the present ages of a
(A) 25 (B) 27 girl and a boy is 5 : 4. Four years ago,
the boy’s age was 24 years. What will be
2
(&) 45 () .32 the girl's age after five years ?
(A) 39 years (B) 40 years
13'\ ,“ 6? 6
ol Yy y 32
‘\JIZ.IX‘\’IA‘..Q"‘ (C) years (D) 46 years
3L pu-
(A) 371 B) 3 50. 648 +54x14=?
8 4 (A) 134 (B) 146
© zﬁ X A C) D) 168
{ i
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GENERAL ENGLISH
Directions (51-33) : In the following questions, 65. APALLING
out of the four alternatives, choose the one which T (A) scarin (B) horrifying
can be substitutad for the given words/sentence. (C) ;:unmﬁng (D) shocking
51.  Thut which lasts for a short ime 66. PACIFY
(A) rotatory (B) regular (A) threaten (B) challenge
() "ﬂl]‘iﬂur}-' (D'l rch'illury fcl Cnrﬂ.gﬁ (D, quml
52 .‘\_pcru(m who beheves in total abolition Directions (Q' 57-69] : lﬂ the flJ"OWiﬂg
Of War. : uestions, out of the four altematives, choose
(A) Pacifist (B) Communist Sne one which best expresses the meaning of
(C) Socalist {D) Fascist the given word.
53.  Ready 10 believe anything.
(A) Credulous (B) Incredible = P.chc?lrm) (B) acquitted
(C) Credible (D) Incredulous (€) called (D) accused
54. Find the misspelt word. 68. OBSTINATE
(A) archery (B) ardous * ok il B) oretty
(C) awthenticity (D) authority fC} ::il] l(D] ?lublﬁlum
§5. A person who on his own effort 69 DéCﬁE;ITUDF ' '
has the best chance to l;:-*i.l'\.. 5 = (A) crowd (B) fecblensss
(A) rehes {B) makes s LIS L
(0) runs (D) puts (C) coolnes- ' .tD} disease
56. All the applicants and the resulis 70. Are you really Jestrous _ visiting
will be agnounced next week. Japan '
(A) are to be ranked(B) are 1o rank {A) about (B) in
(C) rank (D) runking () of (D)
57.  Find the misspeit word. : 71, The sky 1s overcast, we the storm
(A) orthodox (B) euphorna Tl ik B
(C) wtilitarian (D) enemys A) tmst " (B) expect
58. Findthe n}llim'.pell Wl“lrlﬁ . . :(:I suspect (D) hngc
(A) osophugus iB) hear > e = o
(C) spine (D) diaphragm 72. }h"-'_ t;?;:cdtrd‘“{' ai: d%’%ﬂﬂﬁ was
59.  She is beautiful Bhra;c. L‘:}l inmn:?mhen:ible v.
t { ut J sil
:e: :T;. I_D:'; and (B) conspicuous

(C) remarkable

are Likely W be (D) complimentary

0.  All the decisions,

tiken by consensus. Directions (7375) : In the following
(A) somehow (B) ho‘-:w':\-‘er questions, four alternatives are given for the
()" forever (D) anyhew wiom/phrase in bold in the sentence. Choose
6. The old man could not remember where the altemnative which best expresses the
he ___ his money. meaning of the idiom/phrase.
(A) had depasited  (B) s depositing 73, The king had been made to eat humble pie.
(C) willdeposit (D) deposits (A} to have an excellent dish.
62. She had frequent toethaches. So she {B) tohave to apologise.
decided to ____ (C) 1o eat slowly.
(A} having her teeth removed (D) toeata good pie.
(B} reoove her teeth. S
(CV remioyinge her testh 74.  The Swint’s life was an open book.
(1) have her teeth removed. (A) an example to all.
63. Ai one tume, Mr. Ram this (B) an uncomplicated ane.

(C) an interesting biography.

supermuarker . o P

,P‘ wits OWing (B) usad 1o own (D) one that held no secrets.

(C) owned (D) had owned 75. He has a very nice manner, but you
Directions (Q. 64-66) : In the following would better take what he says with a
questions, out of the four alternatives, choose the grain of salt.
one which best expresses the opposite meaning (A) to talk sensibly
of the word given in capital letters, (B) 1o criticise .

64, REPEL (Cy to lhsten to something with

(A) continue (B) attract considerable doubt.

(C) attend (D) concentrate (D) to gomplemeqt,.
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“Bar Code"” printed on the OMR Answer Sheet must not be tampered or in any way marked; otherwise the

candidature will be rejected.

I A 9T O “arewre Wt aor w e a1 ame ar w et ww s e o ol | faga W

% eyt ® FedrrETt TgE W A ot

Candidate must not leave any mark of identification on the OMR Answer Sheet as this may lead to disqualification,

I OAE T o W R T A T et e gr Ieian) & fa s s <o we &

Put your signature on specified space on the OMR Answer Sheet otherwise your answer sheet / candidatare will

be rejected.

;}Wm TR T UT TGAT [T W P T Ot i, Sqar S I T/ S # Ty
|

In case you do not abide by the instructions as given in the OMR Answer Sheet, your Answer Sheet is liable to be

rejected for which you yourself will be fully responsible.

o T, e v o Frd T ke g el w0 T anat & S g T i o v e

vaa ot anaefl w5 ot 9§ IwsEt g
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ANSWER-SHEET IS OF OMR TYPE TO BE READ BY COMPUTER SCANNER. BEFORE FILLING IT UP, THE

CANDIDATES MUST READ THE INSTRUCTIONS PRINTED ONITS BACK SIDE.

IR TS 00, TR R e e o wgl e b | W R S O ey Wi ot st P

W WA Fav o # |

The Candidate must write legibly his name in English in the prescribed space using blue / black ball paint pen.

AT ST AT S F Wi EE W | el / W W E e w3 e v o e

Name, Roll No., Examination Centre, Question Booklet Series and Registration No. should be written on the

Answer-Sheet in Computerised format. The Digits should be written in topmost boxes in blue/black ball point pen

and the circles corresponding to the digits be blackened with “Blue / Black Ball Point Pen only™.

I U OT AR T 9T A, T e, e S W, e qieesr w @i, e den afl .

FNITH T T Wi | W | S0 ST W § S ST W wery | e /el = § w

mmm%vﬂuﬁfmﬁmeﬂWW |

Example : If the Roll No, is 1523098267 and the Registration No, is 164032, then the digits will be written and
the corresponding circles will be darkencd as shown below. '

FATETOT ;A T AT 1523008267 & W yoiteor Fwar 164032 &, 7 A e seaw st e it sf

e e W |
RollNo.| 1 [s[2]3|o]o]8]2]6|7]| RegistrationNe. | 1 |6 |4 |0 |3 |2
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OMON O} [OR[OROF LO] [OF[OF (€ @060 e®
il Jol[o} oo} O} OO 6] GloNoNHONONE©)
PReIe6|Ie|® @ e|® ©eee| ®|®
Q@O0 |@|@|@® Q@212 |1D|@
ONONONG GO ORI OO [ORETTE
OHONONONON RON OO C)] ORONON OO} ()
(ONONOF O JOFOF OO CO|@e Q@
Kumar (Continued on back cover page.)
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